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Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statement:
Three charges 2q. —q. —q are located at the vertices of an equilateral triangle. At the centroid:

L. the field 1s zero but the potential 1s non-zero
2. potential 15 zero but the field is non-zero

3. both field and potential are zero

4. both field and potential are non-zero

Options :

485584143601. 1
485584143602. 2
485584143603. 3
485584143604. 4

Question Number : 136 Question Id : 48558435901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

el Y BT T4 PIFT:
< TR 2q, —q HR —q TP FHETE HYS & WY W ERUG 3 | By & d5o &
faggd &= g & foog faua g e B
fava g & fomg faqga e @ el & |
faggad &3 ik fava ST S = §)
4. fagga &= iR fava e € el €1
Options :
485584143601. 1
485584143602. 2

485584143603. 3
485584143604. 4
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Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The electric charges are distributed m a small volume. The flux of the electric field through a sphere of radius
10 em surrounding the total charge 15 20 Vm. The flux over a concentric sphere of radius 20 cm will be:

1. 20 Vi
2.25Vm
3.40 Vm
4, 200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[Eq 3TI=T U & T H [aaikd 31 a9 fok U TH 10 em 5501 & 7iet &1 fagyd &3 &1
URTER 20 Vi & | 20cm FIST aTe] Hep -5 TIiet &1 Ueia GRTI:

1. 20 Vm

| )

.25 Vm

40 Vm

L# 5]

4,200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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A conducting sphere of radius R 1s given a charge Q. What 1s the electric field and the electric potential at the

centre of the sphere?

1. Q = and Q

4ne, R” 4ne R

| )

—=—— and zero
4ne R

3. zero and
ne, R

4. Both electric field and electric potential are zero

Options :

485584143609. 1
485584143610.2
485584143611.3
485584143612. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

U R 51 1 =16 Tl Q ISR 4dl ¢ | el & g ¥ [daggd &4 Ud faggd [dua IR gH § 2

QaﬁqQ

L 3
4re,R* 4re,R

3.9 3R
LT 4me R

4. fagyd &7 vd fagyd fava S g €

Options :

485584143609. 1
485584143610. 2
485584143611. 3
485584143612. 4
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Question Key Details :
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Value

Comprehension

MCQ

Four identical capacitors each of capacitance C are arranged as shown in the figure. What is the effective

capacitance between P and Q?

2C

| )

R

Lh

5
3C
5
2
3
C
4 —
3
Options :
485584143613. 1
485584143614.2
485584143615. 3
485584143616. 4

Question Number : 139 Question Id : 48558435904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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MCQ
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20
5
3C
5
2C
3
5
3

Options :

485584143613. 1
485584143614.2
485584143615.3
485584143616. 4
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Which of the following statements are correct?

A Electric field lines are always perpendicular to equipotential lines.

B. A zero electric field inside a conducting sphere does not mean that the potential gradient 13 also zero
C. The resultant of two electric fields 15 determined by vector addition of the two field strengths

D. If the field lines get closer together at any place, it means that the field strength is decreasing

E. The resultant potential at a point 1s just the sum of the individual potentials.

Choose the correct answer from the options given below:

1. A. C and E only

| ]

.A.Band D only

Lad

.B. C and E only
4. A, Cand D only

Options :

485584143617. 1
485584143618. 2
485584143619.3
485584143620. 4

Question Number : 140 Question Id : 48558435905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

EE INIER R AR A R A

A. Taega &= Tt wafavs warsit & 94 aaad g1 g

B. fo il =i Tiiet & Wik 31 faggd & @1 9g 3 781 §iaT fes fava waurdn +i g gl

& awwﬁwm@aﬁ & T Ciiaal & Sia=l TR gRT U & 96d 6|
D. Tfe fopdll RUT TR &7 YT O O o1 T ¢ 599 3 & i & 9t ditaar we <8 B

E. foft faig &1 ufvom fava 3= o= faya & Om & SR ©

frafaRad fagel 3 951 IIR & 98- HIT;
1. Pad A, C HRE
2. PHAAA, B AR D
3.%au B, C HRE
4. BTAA, C IR D

Options :
485584143617. 1

485584143618. 2 .
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485584143619. 3
485584143620. 4

Question Number : 141 Question Id : 48558435906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A P-particle is moving perpendicular to the uniform electric field created by a potential difference of
6 » 10° V across parallel metal plates separated by a vertical distance of 6 em. What is the acceleration of the
beta particle between the plates? (Mass of electron = 9.1 x 10> 1kg)

1.1.76 x 1014 m 2

| )

. 1.76 x 1018 m 572

1.8 % 10710y 2

[#¥]

4.18% 1012 mg?

Options :

485584143621. 1
485584143622. 2
485584143623.3
485584143624. 4

Question Number : 141 Question Id : 48558435906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

U p U1 THM [ded &3 & Traad Tid B2 X616 .51 FH=IR 13 B Tel Bl em B @R I W
TG 9 AR 46 » 10° V & SR ITH 51 5| el & A B-TH 0T T @0l R GIN? (SFSH BT
GO = 9.1 x 103 kg)

1.1.76 x 101 m 572

| B

. 1.76 x 1018 m 72
3. 18 = 10‘16 m 5_2

4. 1.8x 10712 mg2

Options :
485584143621. 1
485584143622. 2

485584143623.3 .
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485584143624. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Two wires of copper have lengths L and 2L and cross sectional area 2A and A. respectively. The ratio of their
specific resistance would be-

1. 1:2

[

. 1:8
3.1:1
4. 1:4

Options :

485584143625. 1
485584143626. 2
485584143627. 3
485584143628. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

N Bt &1 IR fS@! TraTSal HH: L UG 2L TUT 30 H1e & &% S 2A Ud A §1 3% fafky
yicRief &7 3UTd §HT-

1.1:2

| S

. 1:8
311
4. 1:4

Options :

485584143625. 1
485584143626. 2
485584143627.3
485584143628. 4
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Question Key Details :

Key Value
Comprehension MCQ

The drift speed of electrons in a conductor is estimated to be only a few mm s~ 1, But on closing a circuit, how
current 1¢ established almost mstantly in an electric circuit?

1. Electrons are accelerated towards the positive end of the conductor while their velocity increases towards
the other end

| ]

. Drift velocity of electrons increases

[¥]

. Electric field is established throughout the circuit with the speed of an electromagnetic wave. causing at
every point local electron drift causing current.

4. The electrons drift towards the negative end’

Options :

485584143629. 1
485584143630. 2
485584143631.3
485584143632. 4

Question Number : 143 Question Id : 48558435908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

f3it ITeTe o SAaHI B A SUaTs 916 $ad % mm ¢ § Iq IRUY & 88 511 TR (68 PR
fagga uigy o dreUre a1 wideniyd grile
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2. gagHl T SUdIg 971 9¢ Wl &
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Options :

485584143629. 1
485584143630. 2
485584143631.3
485584143632. 4
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Comprehension
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Six equal resistances each of 4 £ are connected to form a network as shows in figure. The resistance between

A and B would be;

C

1.28
2.4
j.l2qQ
4.1/48
Options :
485584143633. 1
485584143634. 2

485584143635. 3
485584143636. 4

Question Number : 144 Question Id : 48558435909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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WY A FEATER 4 @ & ©: FHM UiaRI4] P GUITed B TP Sied] &5 | A 3R B & did Wiy gH.
C

1.28

| ]

.40

.12Q

L]

4.1/4Q

Options :

485584143633. 1
485584143634. 2
485584143635.3
485584143636. 4

Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A galvanometer having a resistance of 8 Q 1z shunted by a wire of resistance 2 Q. If the current is 1 A, the part
of it passing through the shunt will be:

1.025A
2.0.78A
3.02A
4. 0.8A
Options :
485584143637. 1
485584143638. 2

485584143639.3
485584143640. 4
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Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

8Q UfARIY aTa U Ted-idie’ &1 20 UfcRiy &t IR T e fosar marn) ofe vaifed YT 1A 8 @l 2T & gRT

TSI aTelt YRT g,

1.0.25A

| S

COTRA
3.02A
4.08A

Options :

485584143637. 1
485584143638.2
485584143639. 3
485584143640. 4
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If three cells are connected n parallel as shown m figure. then equivalent emf would be:

E I
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Options :

485584143641. 1
485584143642. 2
485584143643. 3
485584143644. 4

Question Number : 146 Question Id : 48558435911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143641. 1
485584143642. 2
485584143643.3
485584143644. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Ferromagnetic material core used for transformer must have
1. low permeability and low hysteresis loss
2. low permeability and high hysteresis loss
3. high permeability and low hysteresis loss

4. high permeability and high hysteresis loss
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Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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U TIBTHR & [o0 g Jre 1 U 1S Wgad 61 1gt-
1. F8 urReT=rn ve e It Uit g1

2. e IRt Ud S ey e g
3. 3= YRITdI U4 (Y g Qe g1l

4. 3 IR Ud 3 Jraes g A g1

Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 148 Question Id : 48558435913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension

MCQ

A bar magnet when suspended horizontally and perpendicular to earth's field experiences a torque of

3 » 107* N m. The Magnetic moment of the magnet would be:

(take horizontal component of Earth's magnetic field at the place 0.4 x 10~ T)

1.7.51T1

5711}

| ]

3.0.751T1

4.0577T!

Options :
485584143649. 1
485584143650. 2
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485584143651. 3
485584143652. 4

Question Number : 148 Question Id : 48558435913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

TS TS rach Gl & Gredch Y &F B Alfdol Td THad Tedil o TR 3« 1074 N m. e 39U BT 34T
Bl ¢ | TS DI TEDY S0 GRT

(38 RIM R 9241 & R 1g & o1 &fde ged 0.4 < 1074 T B).

175171

i

| )

3.0.751 T}

405771}

Options :

485584143649. 1
485584143650. 2
485584143651.3
485584143652. 4

Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following is connected to the coil of the galvanometer, to protect it from possible damages due to
large current ?

1. High resistance wire in parallel
2. Low resistance wire in parallel
3. High resistance wire in series
4. Low resistance wire in series
Options :
485584143653. 1

485584143654. 2
485584143655. 3

485584143656. 4 .
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Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[FrafeRad O fed-dier &1 Husdl 4 o S fHar 9 & sifie uRT ualed - R 8 @id 6 o
a1 o eb |

1. ursfepd § S UfeRlY &1 daR
2. e e wieRiy @ AR
3. 9uiiga & 3= wftRiy &1 dR
4. 9uiiep H fFa ufiRiy &1 dR

Options :

485584143653. 1
485584143654. 2
485584143655. 3
485584143656. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

If a copper wire carries a direct current. the magnetic field associated with the current would be:

1. Only mside the wire

|

. Only outside the wire
3. Both inside and outside of the wire
4. No magnetic field would exists due to direct current

Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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afe Ue did @1 aR § 3y oRT vats € df 59 YR Sefid g & g

1. A IR & 3

2. Had dR & 961

3. IR & 33 Hf 3fF §8r ot

4. {3V YR & DRUI Dls THED Y & SARYUT A6l g1

Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 151 Question Id : 48558435916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

A wire 1s bent as shown m figure 1s placed m a uniform field B that emerges from the plane of the paper.

outward as shown. The magnitude of force on the given wire 15 :

oBN OO ©
—R— —R—
@0 0 000 e 6

1. 4BIR

| ]

. BI(zR)

.BIR(2 + )

L]

4, Zero

Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4
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Correct Marks : 5 Wrong Marks : 1
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[ 9R U IR &1 g6 90 5919 &9 B 1 T@1 .6 TR & §0ad IR 96K i 3R Fep1ed g
| 30 T 9R W &d &1 uRET:

2. BI(nR)

3. BIR(2 + 7)

4. 358

Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4

Question Number : 152 Question Id : 48558435917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

What is the magnetic force acting on a proton (charge +1.6 * 1071°C) moving at an angle of 30° across a
magnetic field of 5.3 x 10 > T at a speed of 3.0 % 10° m 5712

1.1272 x 107°19N
2.13x 10718
3.1272 x 101N
4,22 % 10710
Options :
485584143665. 1
485584143666. 2

485584143667. 3
485584143668. 4

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 W C OI I e ge d un I as
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

53x103Td W%ﬁ%@ x10°ms L DITATY SOC'a?aﬂwwrnﬁWﬁﬁwm(chargc

+1.6 x 1071°C) W R Jrab g ge 91 g
1.1272 x 1071* N

13 x10710N

[ ]

3.1.272 x 101N
4.22 % 10716y

Options :

485584143665. 1
485584143666. 2
485584143667. 3
485584143668. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The mutual inductance My, of coil 1 with respect to coil 2:

1. depends on the current passing through the coil

| ]

. increases when the coils are brought nearer

3. M, of coil 2 with respect to the coil 1 1s not same
4. increases when any one coil 1s rotated about its axis

Options :

485584143669. 1
485584143670. 2
485584143671.3
485584143672. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-~
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BUST 1 DT AT YRebed M, DUSTI 2 & HIU&:

 PUSH! 9 giopR Yalied RT R MR xarg
 PUSerdl & Ao a1 IR 9¢ A1l 6
 PUSHI 2 BT M, PUSHT 1 P A& T 6 6

4. for<il U FUSdl B 39D 318 TR IHU o R §¢ oAl 5|

—

[ ]

ad

Options :

485584143669. 1
485584143670. 2
485584143671.3
485584143672. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In a series LCR circuit an ac voltage source 1s connected. When inductor 1s removed from the circuit, the

T
phase difference between the voltage and the current in the circuit is E If capacitor 13 removed from the

cirrcuit instead of inductor, the phase difference 1s again — . What is the power factor of the circuit?

| ]

= [‘-J|éﬂ Wi | éﬂ|_‘

4,

Options :

485584143673. 1
485584143674. 2
485584143675.3
485584143676. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ Inia:
OG India’s largest Student Review Platform




uiisa H, LCR UNTY 3R ac dleedl Wid aiford {5 70| &/ ooy ¥ tRe &1 g oidl & af ooy |
dieedl 3R YRT H SR %ﬁm:m%mﬁ%w&wﬁm%wﬂwmﬁﬂﬁwﬁmmﬁw

E:T=§ B ST & 1 uRuY 7 2ifcRy 0T a3

[

— p ba | —
|G &l-

4.

Options :

485584143673. 1
485584143674.2
485584143675. 3
485584143676. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LIST1I LIST IT
A |Quality factor of a circuit L rg—" . (XL » ]'1 ]‘
B. |lmpedance in an ac circuit 1L (JL(_'_‘}

C. [Resonant frequency of a LCR circuit | IIL [0.314, W4, sin (2eot)
Lﬂstan_tan—eous power supplied to a IV. e, C R_]“ I
capacitor :

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-TLL B-IIIL, C-1, D-IV
3. AT B-IV, C-1, D-I1
4, A-IV, B-1, C-II, D-III
Options :

485584143677, 1
485584143678, 2 Qcollegedunias
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485584143679. 3
485584143680. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Tl 1971 gal-1 ¥ e sifee
-1 & I
A. [aftoy &1 feRwai@iferdh Qi | L[R2+ (x, x{_ﬂ'
B. fac URTY & uftfaen IL _Jﬁ)'
C. [LCR URTY &I 3ATa] H1gid 01 [0.5i V7, sint (2cot)
o [FERA®! &l S aredl drceios v -
Qﬂﬁ.‘ﬁ - MJCR]

Fafeaiad el H 9 981 IR &1 9894 BI:

1. A-L. B-II. C-III. D-IV

| B

CA-IL B-II0, C-1, D-IV
3. AL B-IV, C-1. D-II
4. A-IV, B-I, C-II, D-III

Options :

485584143677. 1
485584143678. 2
485584143679. 3
485584143680. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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What 1s the self inductance of a solenoid of length 50 em, if area of cross section 15 10 em” and total number

of turns 18 6007
1.1.44 x 10°%H

720 x 107 H

| )

3.288 x 107%H

4.904 x 100%*H

Options :

485584143681. 1
485584143682. 2
485584143683.3
485584143684. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

T GRATTADT BT SR PTe T SABT 10em? TUT BRI BT /AT 600 €, T 50 em T TRATIDRT BT -

U odl 87T 2
1.1.44 x 100°%H

720 x 1007 H

| S

.2.88 x 107*H

L]

4,004 x 100*H

Options :

485584143681. 1
485584143682. 2
485584143683. 3
485584143684. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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Choose the correct statements from the following:

A Induced emf opposes any change in the current in a circuit

B. Induced emf m a closed coil can be increased by increasing the number of turns in the coil
C. Varying current in a coil can not induce emf in a neighbouring coil.

D. An LCR circuit has zero impedance at resonant frequency

E. Average power supplied to an inductor over one complete cycle is zero

Choose the correct answer from the options given below:

1. A, C.D and E only

| ]

.B. C and D only
3. A.B and E only
4. C.D and E only

Options :

485584143685. 1
485584143686. 2
485584143687.3
485584143688. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

fgfafad ¥ 9gl ®YF &1 999 S

A. fodt uftgy 4 wiifva a.ard yrr & forddt oft oR & ulvad= &1 fodiy sxar g
B. fpdll 5= pusl 1 IR 4,419 1 pugedt & B &1 W& 9 R ¢ Sirel & |
C. U HUsl § gRadl ¢RI g1 FHYad! $usdl H fd.d1d & URd 9l &R 9hdi g |
D. WWWWLCRWUﬁWWW%I
E. [t UR® 1 U s IR0 P2 TR af o arail AEFI LA G
Fafead fae el ¥ 9 981 SR &1 99 Sl :
1.$ad A, C.D AR E
. Had@B. C3ARD
. Pad A, B3RE

4. H9AC,DIARE

2

5]

Options :
485584143685. 1

485584143686. 2 .
Qcollegedumas
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485584143687. 3
485584143688. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

An alternating voltage V = 140 sin 100 mt 1s connected across a pure resistor of resistance 40 . What 13 the

rms current through the resistor? (Take v2 = 1.4)

1.35A

| S

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691.3
485584143692. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

40 @ TIRIY & g HIaRIY® & WY V = 140 sin 100 nt dlecdl DI GAIreTd fbar 7| wieRiy o wared

rms HRTHET BRI (V2 = 1.4)?

1.35A

| ]

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691. 3
485584143692. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

% collegedunias

Quistion Mandatory :
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A flask contams Argon and Chlorine i the ratio of 2:1 by mass. The temperature of the mixture 15 27°C. The
ratio of root mean square speed of molecules of two gases will be : (atomic mass of Argon =40 u and
molecular mass of Chlorine = 71 u)

1.1.78

| ]

1.33

2

Lad

4.1

Options :

485584143693. 1
485584143694. 2
485584143695.3
485584143696. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

U Ul H S SR o SoddH & S8R 2:1 & SUId J 36 75| %01 &1 dargq= 27°¢ 8]
T & (UL T TS ATed 91e &1 0T B
(3171 ST URHIY] SoHM =40 u 3R FRIH BT Ugs go0qH = 71 u)

1. 1.78

| R
—_
(5]
(9%

L S]
[ ]

4.1

Options :

485584143693. 1
485584143694. 2
485584143695.3
485584143696. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value Q I I | n l a
€
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|Comprehension IMCQ

Which of the following statement 15 not true for the electromagnetic waves?

1. These waves have momentum

| ]

. These waves travel at different speeds in vacuum depending upon their frequency
3. These waves transport energy
4. These waves travel at different speeds in a medium depending upon their frequency.

Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frafafad § &F @ oy gy e o & g 98 T2 e
1. g9 a1 § G S 3
2. T T 3Mafa & SmuR wR i firs =ret § fafa § oRd B
3. 0 T Il T Bl 3

4. T T4 firs =ret € mery § eRd §

Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
Qcollegedumas
India’s largest Student Review Platform



Which one of the following cannot be polarised?

1. v -rays

|

. Sound waves
3. Microwaves
4. Ultraviolet rays

Options :

485584143701. 1
485584143702. 2
485584143703. 3
485584143704. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

3 o farereT y@u Tel 51 9l 2
1. 77747 fepeuf
RsIEREa
gEA T
4. TRIGTT TRl
Options :
485584143701. 1
485584143702. 2

485584143703. 3
485584143704. 4

[ ]

[¥5]

Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-
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Choose the correct formula for magnifying power of a sumple microscope from the following

1.m=1—E
2. m=1--E
f
Im=1 —i
d
4. m:I—f
d

Options :

485584143705. 1
485584143706. 2
485584143707. 3
485584143708. 4

Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

frafeRad o SryRY geaasi @1 Had- aar B 98 ga

1.m=1—E_
f
2.m=1-~E
F
J.IT]—1—£
d
_"I.rn:'l—-—i
d

Options :

485584143705. 1
485584143706. 2
485584143707.3
485584143708. 4

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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Light from a pomt source in arr falls on spherical glass surface (n = 1.4 and radius of curvature 20 em). The
distance of light source from the glass surface 1s 150 cm. At what position 1s the image formed?

1. 150 em from glass surface in the direction of incident light

[

3. 150 em from glass surface towards light source

4. 105 em from glass surface towards light source

Options :

485584143709. 1
485584143710. 2
485584143711.3
485584143712. 4

. 105 em from glass surface in the direction of mcident light

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

g H T U foig °id 9§ Bi9 &1 Hag IR BRI PRl 8 (n=1.4 3R Gl H1 20em) | HF &1 Hdg 9

TeRTRT Hd D1 gxl 150 em § | HiATawa 6% I R &2
1. 3Mmufcrd foxur &1 f&=m o &id ot Tds 9 150 em DI gH W
2. 3mafad forur &1 fo=m o Bie &t Jdg ¥ 105 cm DI GU W
3. ®id B Udg U 150em B G R IR HId DI 3R
4. P19 I HAE ¥ 105em P g3 TR UHTR HId DI 3R

Options :

485584143709. 1
485584143710. 2
485584143711.3
485584143712. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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Match List I with List IT

LISTI

LISTII

Frequency is the characteristics

Due to dispersion of light

Medium of travel of light

Source of light

AT L
of

B [n a soap bubble colours are I
seen

C. |Wavelength depends on 1T

D |In a prism colours appear V.

Due to interference of
light

Choose the correct answer from the options given below:

4,

1.

5

L]

AL B-1IL C-I. D-IV

CA-TLL B-IIOL C-IV, D-I

CA-IV. B-IO0L, -1, D-II

A-TIIL B-IV, C-I1, D-1

Options :

485584143713. 1
485584143714.2
485584143715. 3
485584143716. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
I 1 D1 AT 11 ¥ e Bifey
T 1 T I
A |amafaaame L |vee & faaun & srRu
B. | 919+ & gefqel & U1 e ad | 11 | WehT &1 H1e H HaRul
C |Toed A adie 11 | Jebrer Fid
D. |frsadmfeEs ta B V. | USY & SAGH & RO

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1

| )

AL B-I1. C-1. D-IV

CA-IL B-IIIL, C-IV, D-I

CA-IV, B-1I1, C-1, D-II

CACITL B-IV. C-I1, D-I

.
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Options :

485584143713. 1
485584143714. 2
485584143715.3
485584143716. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

For a glass prism (g =3). the angle of minimum deviation is equal to the angle of prism. What is the angle of

prism?

E.N !u
wla &|a o8

Options :

485584143717. 1
485584143718.2
485584143719. 3
485584143720. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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U B & O (4= 3). TATH faaa v fires & $ivr & RIeR ©.f05T & S0 &1 Hrr TH 82

T
1._
6
T
'_J“_
4
T
3._
3
.
4,ﬂ
3

Options :

485584143717. 1
485584143718.2
485584143719.3
485584143720. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

A parallel beam of light of wavelength 500 nm 1s incident normally on a slit of width d. If the distance
between slit and sereen 1s 0.6 m and distance of second order minimum from the centre of the screen 1s

6.0 mm. What 1s the width of the shit?

1. 0.1 mm

| )

. 0.7 mm

. 0.2 mm

Lad

4. 0.5 mm

Options :

485584143721. 1
485584143722. 2
485584143723.3
485584143724. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-~
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500 nm TG BT U YT Goi'd' HIeTgep! -1 R SHfiyera Smdfad gial &1 fd i3 ud Re & &g 1
X1 0.6 m 3R U & A ¥ fGcdia S 3 a9 28 6.0 mm 8 @ B3R @1 s F®1 g

1. 0.1 mm

| S

0.7 mm

2 1mm

[ 5]

4. 0.5mm

Options :

485584143721. 1
485584143722.2
485584143723.3
485584143724. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two polaroids Py and P, are set m crossed positions. A third polaroid P is placed between the two making an

angle o with the axis passing from the first polaroid Py. In what orientation will the transmitted intensity be
maximum?

!_q
Hla wla o)A

s
o

Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
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P, TYUT P, & &l UltRigs o1y fRUfd H ey MY 15 S1H1 & A Ugd UleRigs Py U & Q= o DI

§1d §U AR UITRIS S p; @1 11| {$F ffe-arg 5 Taid Yol of digdn sifteda gl

|

!J

B8 wa o

4.0

Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following statements are correct?

A Number of photoelectrons emitted per second 1s directly proportional to the intensity of incident
radiation

B. Cut off potential 1s the minimum negative potential given to the plate for which photocurrent becomes
maximuim

C. For a given frequency of the incident radiation, the stopping potential 1s mdependent of 1ts intensity

D. Even for the exceedingly dim incident radiation apparent time lag is ~ 107°s or less

E. Photons are electrically neutral and are not detlected by electric and magnetic fields

Choose the correct answer from the options given below:
1. B and D only
2.A.C.D and E only
3. A.Band E only

4 AB.C.Dand E

Options :

485584143729. 1
485584143730. 2
485584143731.3
485584143732. 4

.
Qcollegedumas
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Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Frafafad suH! § $1F W HuF e 32

A. VI o8 Ifold gaige [l &1 Tvean safd f6vur & digar & S=PHHurd gldl g |
B. Fraas 31 v 9 e &R v uRT sftieras 81 1 8. 3@ 94 Fear o
C. fmafad fafdxo &t €1 115 snafa & fog dee fayd digdr W ARk 781 Sl |

D. AT T TG A0 9 S T Sad~ 10 % 31 39 HH sl g |

E. B f[dggdig-3ari gial 3 SR fdgga au1 Jree ™ &4 1 fadfad Te1 gid |

fFafoRad famedt & el famedt o1 =g By
1. Had B 3R D
2.Pad A, C.D HRE
3. $adA.BRE

4. A.B.C.D3IRE

Options :

485584143729. 1
485584143730. 2
485584143731.3
485584143732. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A body oscillate with SHM according to equation (SI unit),
x = 10cos (2mt + m/4)
at t= 1.5 s, calculate the speed of the body.

1.44ms!

1

| ]

L22ms”

10ms!

[¥¥]

4. 5mg’!

Options :
485584143733. 1 Qcollegeduniag
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485584143734.2
485584143735. 3
485584143736. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

B & TR U fUUS HH SIe Tid & H1 &1 B0 6 | (SI5PR)
x = 10cos (2mt + m/4)
t= 1.5 ¢, dl fOUS &I I1e P MUET BT

1.44ms!

2.22ms!

3.10ms!

4. 5mys!

Options :

485584143733 1
485584143734. 2
485584143735.3
485584143736. 4

Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What 1s the de Broglie wavelength associated with an elector accelerated through a potential difference of
144 V?

1. 0.0102 nm

[

. 1.022 nm
3.0.0102m

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3

485584143740. 4 .
gcollegedumas
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Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

144 V & fGyara gRI fardt saidel- 3 wiaiia Sl-siwelt a3 ol Far gt

1. 0.0102 nm

[ ]

. 1.022 nm

.0.0102 m

Lad

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3
485584143740. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statements from the following:

A. The minimum energy required to free the electron from the ground state of the hydrogen atom 1s 13.6 J

B. The principle quantum number n labels the stationary states in the ascending order of energy

C. Bohr gave the basic idea of discrete energy levels

D. de Broglie hypothesis provided an explanation for Bohr's second postulate for the quantization of angular
momentum of the orbiting electron

E. line spectrum provides useful information about the atomic structure.

Choose the correct answer from the options given below:
1. A, C.D and E only
2. A, B and D only
3.B.C.D and E only

4. A and E only

Options :
485584143741. 1
485584143742. 2

485584143743, 3 Qcollegedunias
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485584143744. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

fRafeiRad # Fel Sy BT 98 DI
A. BTSgIoH TRET] B FHaH ARl I sude Jad B3 & [0 31awdd FAd9 391 13.6 7

B. 391 & ARIG! o0 H g&=

HicH a7 .0 R 3w & SFd Hdi 1

C. §IgR | g [G9R YR & S 9R 36l Wk <P sl 4 [auIied 3
D. SI-gil7ell HTYRUN A digx & g8l AR Sl oI Pl T Baitd gaidgi—l ol HIvig Ha7 Sididd

SR

E. T3 WaeH AT IRTHT & aR H TGN I&1 a1 8|
frafeRad fdeedl § 981 STR &1 994 HIeU:

1. $addA. C, D ARE

Pad A, B 3R D

. HaAB. C.D ARE
4. $dd A RE

Options :

485584143741 1

485584143742, 2

485584143743. 3
485584143744. 4

[ ]

L]

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

p——=ntv+ A

In this nuclear reaction A 15 a/an:

1. electron

[

. gamma ray
3. positron

4. anti neutrino

.
gcollegedumas
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Options :

485584143745. 1
485584143746. 2
485584143747.3
485584143748. 4

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

p——=nt+tv+ A

=9 TSy il 7§ A Uh

1. geragH
2. 77T fahvu
3. GITeigH

4. gfa =gfeAt

Options :

485584143745. 1
485584143746. 2
485584143747.3
485584143748. 4

;a_‘LI,JJ

Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The nuelear force 1s:

1. independent of the nuclear charge

| )

3. short range weak force

. are central forces, independent of the spm of the nucleons

4. the strong forces between electron and proton bound i a nucleus

Options :

485584143749. 1
485584143750. 2
485584143751. 3
485584143752. 4

-
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Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

iy §d gl
1. g ae | Ak s
2. B0 9 § off gaaitaii= & goiA or Fdk T8 e

3. B WS gad ad

4. A1y H €f¥d Uil Ud geiaciH & ol & Udd dd
Options :
485584143749. 1
485584143750. 2
485584143751. 3
485584143752. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

After 4 hours, — of the initial amount of a certain radioactive isotype remains undecayed. What 1s the half life

of the isotope?

1. 15 min

| ]

. 30 min

.45 min

[¥]

4. 60 min

Options :

485584143753 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : W col Ieged unia:
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Key

Value

Comprehension

MCQ

4ﬁ%ﬁium.wmwﬁaﬁiﬁwmﬁi i Y sfaufyd ¥ a1 gueiHe o

Hefarrg =y grik
1. 15 firFe
2.30 fFe
3. 45 fire
4. 60 forie

Options :

485584143753. 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Why do light emitting diodes are preferred over conventional mcandescent low power lamps?

1. High operational voltage and less power

| )

. Short life and ruggedness

3. The bandwidth of emitted light 15 10 nm to 50 nm

4. Warm up time required

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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TPTR] Il SIS B IRARTTA JAH eIt ded ! st Fi mufidar 4 oIt g

1. AGTIT HTURA dieedl IR $F &Hdl (W) DR

2. %Y 3G UG Hefgd| & BRI

3. Bﬁqﬁhwaﬁﬁsaﬁ?ﬂé 10nm ¥ 50nm %I

4. THEH & o0 gHg ®f awaaT eidl o

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

- . , Feigeid . : =3
A semiconductor has an electron concentration of 8 » 1012 m ™ and hole concentration of 2 * 10° m™ . The

semiconductor behaves as:

L. n- type semiconductor

| )

. p - type semiconductor

. intrinsic semiconductor

L]

4. p-1 junction

Options :

485584143761. 1
485584143762.2
485584143763. 3
485584143764. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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U AP DI gAaL I WK 8 1013 m™ TUTBIA KU 2  10° m ™2 B e

FTER HIAT ©

1. n- UOR & Sfeaas®
2. pUPR & fefETaE
3. 99 SeETEE
4. pnn iy

Options :

485584143761. 1

485584143762. 2

485584143763. 3
485584143764. 4

D WE

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The forbidden energy band gap mn conductors, semi conductors and insulators are Eqy E; and Eq3.

respectively. The relation among them 1s

1.Egy = Egy~ Eqs
2 Eg1=Eg=Egs
3.Eg1=Eg2=Egs
4.Eg; <Egy > Egs
Options :
485584143765. 1
485584143766. 2

485584143767. 3
485584143768. 4

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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e, ST Ud DT § Hitg 3ol 60 3RIe HH: Egy Eg, U6 Egs. 8. 5778 TR 95Y -

1. Eq; > Egy > Egs

2.Eq1<Eg2<Egs

3.Eg1 =Eg2=Eqs

4. Eqi<Egy > Egs

Options :

485584143765. 1
485584143766. 2
485584143767.3
485584143768. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

The truth table for one of the following logic gates 1s given. Identify the logic gate

Output
Input

Y

»—-»--C)D;i-
o =1 ] =1 I #5}

1
1
1
0

1. AND gate

| ]

. NAND gate

L]

. NOR_ gate

4. OR gate

Options :

485584143769. 1
485584143770. 2
485584143771.3
485584143772. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

-
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Key Value
Comprehension MCQ

difsre Tic & fere PafeRad gaam Rl €t 12 & 1@ifeis Tic &1 yg=u

Cutput
Input
A | B Y
0 | 0 1
0 | 1 1
1| 0 1
T | a 0
1. AND TIc
2. NAND 7
3.NOR T
4. ORTIE
Options :

485584143769. 1
485584143770. 2
485584143771. 3
485584143772. 4

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Qcollegedunias
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Match List I with List IT

LISTI LISTII
A |Repeator I. |converts one form of energy into another
8. [Bandwidih I inform_ation converted 1::1 glemrical form
and suitable for transmission
A combination of a recetver and a
C. |Transducer II1. R—
D. lsicnat v p.ortion of the spectrum occupied by the
= signal

Choose the correct answer from the options given below:

1.

5

L]

4,

A-TV, B-III. C-II, D-I

AL B-IV, C-1L D-II

CA-IL B-IIIL C-IV, D-I

AL B-1, C-II, D-IV

Options :

485584143773. 1
485584143774. 2
485584143775. 3
485584143776. 4

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

I 1 D1 AT 11 ¥ e Bifey

AT 1

T I

A | U@ I | Us UHR @1 391 Bl gux 1 gRafdd &1

B. |3vsdie | L |gE &l ¥eRur & fu Iuarett fagga = o ufiada
C |gisg®R | UL |7l Ud S &I Yo

D. |udi® IV. | udlies R Sifiied SdeH &1 5@ HI

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1

| )

ATV, B-1I1, C-II, D-1

AL B-1V, C-1. D-II

CA-IL B-IIIL C-IV. D-1

CA-IIL B-IL C-I1, D-IV

-

collegedunias
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Options :

485584143773. 1
485584143774. 2
485584143775.3
485584143776. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A transmitting antenna at the top of a tower has a height 18 m and the height of the receiving antenna 1s 32 m.
What 1s the maximum distance between them for satisfactory communication in line-of-sight mode? Given

radius of earth is 6.4  10%m

1.3341um

| ]

.354m

354 Ian

L]

4, 335m

Options :

485584143777. 1
485584143778. 2
485584143779. 3
485584143780. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ot TR T GaRd T &1 $T15 18 m 3R TTe! T Bl $d1% 32 mo | @57 U4 e HIg §
AP T D Ay siftpad gt o gl gedt of A3 6.4 « 10%m

1.3341um

2.354m
3.354km
4,335m

Options :
485584143777. 1
485584143778. 2

485584143779. 3 .
Qcollegedumas
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485584143780. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two protons P and Q are placed between two charged plates A and B as shown. then

A B

+ + + + + +
w
|

1. P experiences more force as closer to positive charged plate
2. QQ experiences more force as closer to negative charged plate
3. Both experiences same force towards right hand side

4. Both experience same force towards left hand side

Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

.
Qcollegedumas
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Z3IT U AR A SR B &1 STafRid ufgal & Ten a1 gief+i p 3R Q T 7MY dl
A B

+ + + + + +
1
|

[

P ISIARId Ul & Toidid D o BT AIHd G
. Q FUMATRIA Il & Foldi 3ifeid & BT 3(gHd fopar
G 81 &Ts 3R U9 a9 1 3Hd $Id ¢
ST €1 a7 3R IHH 96 &7 3gHT BRI 8

[

LIPS

s

Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two sitar stings A and B playing a note are slightly out of tune and produces beats of frequency 5 Hz. The
tension in string B 1s slightly increased and beat frequency become 3 Hz. What is the original frequency of B
if frequency of Ais 427 Hz.

1.432 Hz

| )

.430 Hz

.424 Hz

Lad

4. 422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787.3

485584143788. 4
Qcollegedunias
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Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

AR #5121 TR A 3R B 99T & TR $% 9930 81 9l © 3R 5 Hz $1 319 &1 a1 (@) 3 8idl o
R B H UIS1 0714 S P W a1d Sqid 3 Hz 51 91 6 | A7 A B 3191d 427 Hz §1 I B ® adid®

H1qfcr =1 gt

1. 432 Hz

| )

.430 Hz

424 Hz

fad

4,422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787. 3
485584143788. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The electric field vector oscillates according to the equation £ = 4sin[l.3 y+ [i5.4xlﬂﬁ}r]!;,. The equation of

magnetic field vector 1s:

1.§==L33xur“ﬁn[Lav-[54x|nﬁp}f
J.E::4ﬁn[LRy-(54x|n°ﬁ}j
3.§=|33X1U*sm[L8y-{14xuﬁ)q£
4.?::5mn_L3y;(54x|n°ﬁ}j

Options :

485584143789. 1

485584143790. 2

485584143791.3
485584143792. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No Is jon Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 COI IegEd u ni as
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e faqyd & <1 TS THIRT £ = 4sin[ 1.8y +(5.4x10°)¢ 4. & STHR S0 el §1 Traobid & e
! JHIE ¢

1. B=133x m‘“sin[l_x_v H(5.4% m")z]f
2. B= 4sin[| 8y 4 (5.4x|ﬂ(’Jr]f
3. B=1.33x107¢ sin[l.ﬁy (5.4 m“)r}(—
4. E:.ﬁsin:l.x_y - (5_4xm‘-')r}j

Options :

485584143789. 1
485584143790. 2
485584143791. 3
485584143792. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

At what distance should an object be placed from a convex lens of focal length 15 em to obtain a real image
three times the size of the object ?

1. 10 em
2. 20 em
3.40 ¢m

4,50 em

Options :

485584143793. 1
485584143794. 2
485584143795. 3
485584143796. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

[Key Value M| nia:
India’s largest Student Review Platform




|C0mprehension

[MCQ

WW%WW@H 0111%'.@&\1’}

<1 T[T aTfa e WiiferE Ui B 9eh?

1. 10 em

[ )

.20 cm

.40 em

[¥5]

4. 50 cm

Options :

485584143793. 1
485584143794. 2
485584143795.3
485584143796. 4

X R 31 WU b g9 o1 & PR &1

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List I with List IT
LISTI LISTII
A Mass of alpha particle| I |1.00727 u
B. Mass of proton II. 4.00260u
C. Mass of neutron III. |0.00055 u
D. PMass of electron IV. 1.00866 u

Choose the correct answer from the options given below:

1. A-III., B-1. C-IV, D-II
2. AL B-IV. C-I, D-III
3. A-IL B-1. C-IV, D-III
4. A-1, B-IIT, C-II. D-IV
Options :
485584143797. 1
485584143798. 2

485584143799. 3
485584143800. 4

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks
Question Key Details :

01

-
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Key Value
Comprehension MCQ
= 1 BT ga 11 F e spifore
T 1 Tt 11
A. | srep1 wort @ gegHF| Lo [1.00727 u
B. | OielH &1 zo0dH 1L Ja.00260 u
C. | g2 &1 seaaH I1I. [ 0.00055 u
D. |SoRH I GIHA | IV | 1.00866 u
FFafaRad faeedl @ 9 Wgl SR &1 999 Sl -
1. A-IIL B-1. C-IV, D-II
2. A-IL, B-IV, C-I, D-III
3. A-IL B-L C-IV, D-III
4. A1, B-III, C-II, D-IV
Options :

485584143797. 1
485584143798. 2
485584143799. 3
485584143800. 4

.
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